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MLII-103 : FUNDAMENTALS OF INFORMATION 
COMMUNICATION TECHNOLOGIES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt all questions. All questions carry equal 
marks. Illustrate your answers with suitable 
examples and diagrams, wherever necessary. Write 
relevant question number before writing the 

answer. 

1.1 What do you understand by the term 'computer 
architecture' ? How is it different from 'computer 
organisation' ? 

OR 

1.2 'A mark-up language is meant to give clues 
about the structure, content, formatting, 
presentation and behaviour of documents either 
to the machine or to human beings.' Elucidate. 

2.1 Worldwide telephone network is the largest 
telecommunication network in existence today.' 
Discuss. 

OR 
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2.2 What do you understand by 'network 
convergence' ? How does it differ from 'access 
convergence' and 'service convergence' ? 

3.1 Explain the concept 'multimedia'. Discuss the 
role of 'hypertext' and 'hypermedia' in 
information searching. 

OR 

3.2 What do you understand by 'network 
publishing' ? Discuss the categories of products 
and service providers in it. 

4.1 Trace the historical developments of xerography. 
Explain the steps involved in the making of a 
Xerox copy. 

OR 

4.2 It is stated that 'bibliographic utility networks 
reduce the cost involved in processing library 
documents, increase efficiency and save the time 
of experts.' Explain. 

5.0 Write short notes on any three of the following 
(in about 300 words each) : 

(a) Multi-user operating system 

(b) Cell switching 

(c) Silk screen printing 

(d) Services of CALIBNET 

(e) Microforms 
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